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NEW QUESTION 1
Which statement about IPsec is correct?

A. IPsec can provide encryption but not data integrity.
B. IPsec support packet fragmentation by intermediary devices.
C. IPsec support both tunnel and transport modes.
D. IPsec must use certificates to provide data encryption

Answer: C

NEW QUESTION 2
Which UTM feature should you use to protect users from visiting certain blacklisted websites?

A. Content filtering
B. Web filtering
C. Antivirus
D. antispam

Answer: B

NEW QUESTION 3
Which two actions are performed on an incoming packet matching an existing session? (Choose two.)

A. Zone processing
B. Security policy evolution
C. Service ALG processing
D. Screens processing

Answer: CD

NEW QUESTION 4
A new SRX Series device has been delivered to your location. The device has the factory-default configuration loaded. You have powered on the device and
connected to the console port.
What would you use to log into the device to begin the initial configuration?

A. Root with a password of juniper’’
B. Root with no password
C. Admin with password
D. Admin with a password ‘’juniper’’

Answer: B

NEW QUESTION 5
Which two statements are correct about using global-based policies over zone-based policies? (Choose two.)

A. With global-based policies, you do not need to specify a destination zone in the match criteria.
B. With global-based policies, you do not need to specify a source zone in the match criteria.
C. With global-based policies, you do not need to specify a destination address in the match criteria.
D. With global-based policies, you do not need to specify a source address in the match criteria.

Answer: AB

NEW QUESTION 6
Which two statements are correct about functional zones? (Choose two.)

A. A functional zone uses security policies to enforce rules for transit traffic.
B. Traffic received on the management interface in the functional zone cannot transit out other interface.
C. Functional zones separate groups of users based on their function.
D. A function is used for special purpose, such as management interface

Answer: BD

NEW QUESTION 7
Which security feature is applied to traffic on an SRX Series device when the device is running n packet mode?

A. Sky ATP
B. ALGs
C. Firewall filters
D. Unified policies

Answer: C

NEW QUESTION 8
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Your company uses SRX Series devices to secure the edge of the network. You are asked protect the company from ransom ware attacks.
Which solution will satisfy this requirement?

A. Sky ATP
B. AppSecure
C. Unified security policies
D. screens

Answer: A

NEW QUESTION 9
Which two statements are true regarding zone-based security policies? (Choose two.)

A. Zone-based policies must reference a source address in the match criteria.
B. Zone-based policies must reference a URL category in the match criteria.
C. Zone-based policies must reference a destination address in the match criteria
D. Zone-based policies must reference a dynamic application in the match criteria.

Answer: AC

NEW QUESTION 10
You have configured a Web filtering UTM policy?
Which action must be performed before the Web filtering UTM policy takes effect?

A. The UTM policy must be linked to an egress interface
B. The UTM policy be configured as a routing next hop.
C. The UTM policy must be linked to an ingress interface.
D. The UTM policy must be linked to a security policy

Answer: D

NEW QUESTION 10
Firewall filters define which type of security?

A. Stateful
B. Stateless
C. NGFW
D. Dynamic enforcement

Answer: B

NEW QUESTION 11
What are the valid actions for a source NAT rule in J-Web? (choose three.)

A. On
B. Off
C. Pool
D. Source
E. interface

Answer: BCE

Explanation: 
Explanation
https://www.juniper.net/documentation/en_US/junos/topics/topic-map/nat-security-source-and-source-pool.html

NEW QUESTION 12
The free licensing model for Sky ATP includes which features? (Choose two.)

A. C& C feeds
B. Infected host blocking
C. Executable file inspection
D. Compromised endpoint dashboard

Answer: BC

NEW QUESTION 17
Which three actions would be performed on traffic traversing an IPsec VPAN? (Choose three.)

A. Port forwarding
B. Authentication
C. Encryption
D. Deep inspection
E. Payload verification

Answer: BCE
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NEW QUESTION 22
......
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